Day 15 - Equation of a Line (difficult) after.notebook December 10, 2019

To find the equation of any line:
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Determine the equation of a line
perpendicular to 4x+5y=7 and having
the same x-intercept as 10x+7y=-20.
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Determine the equation of a horizontal

line passing through the same point on
the y-axis as 3y = 6x - 9
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Given: M(3, 5), U(-2, -1), and D(0, 4)
Find the equation of a line parallel to
MD and passing through U.
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g._ 4. Determing the equation of a horizontal line passing through (7, 3).
B Please state your answer in General Form, [ M
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© ) 5. Determine the equation of a line with a slope parallel to 4(y - 2) = 24x - 32 and a
; ~5 y-intercept of &, Please state your answer in Slape- Intercept Form.
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